N = 553

553 circles in a square

radius =  0.022334001644  density = 0.866578862436 Qe
ratio = 44.774779546924  contacts = 1361

N = 556

556 circles in a square

radius =  0.022266074863  density = 0.865988239406
ratio = 44.911373296396 contacts = 1145

N = 559

559 circles in a square
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N = 562

562 circles in a square

radius = 0.022187538886  density = 0.869169446481 Desmn
ratio = 45.070343544356 contacts = 1531

radius =  0.022304070378  density = 0.865820553042 Qe
ratio = 44.834865702737  contacts = 1037

N = 557

557 circles in a square
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radius = 0.022263280729  density = 0.867328052036 Desmn

N = 560

560 circles in a square
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radius = 0.022233704196  density = 0.869684132663
ratio = 44.976761009647 contacts = 1231

N = 563

563 circles in a square
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radius = 0022169923634  density = 0.869333992000 [ Esmr
383

ratio = 45.106154469841 contacts = 1.

N = 555

555 circles in a square
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radius = 0. density = 0. pEsmr
ratio = 44.869281039097 contacts = 1473

N = 558

558 circles in a square
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radius = 0. density = 0.
ratio = 44.924423972242  contacts = 1125

N = 561

561 circles in a square
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radius = 0 densi o
ratio = 45.027012326610 contacts = 1543

N = 564

564 circles in a square
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